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# XGBRegressor 2 & HO|
model = XGBRegressor()

param xgh={
‘max_depth': [1e, 30, 50],
"learning rate': [6.1, ©.01, ©.001],
‘'n_estimators’':[206, 300, 500, 1000 ]

¥

grid search = GridSearchCV(estimator=model, param grid=param xgb, cv=5, scoring="neg mean_squared error', refit=True, n_jobs=6,
grid search.fit(x train, y train)

print('Z&°| U2f0/H: ", grid search.best params )
print('&E<: ',grid search.best score )
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LA&3 gd 371 1.51GB (1,630,863,360 HIO|E) CjA3 et 37 16.2GB (17,461,121,024 HIO|E)
&

@itz X0l= 0.01%
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RandomForestRegressor (8S& 2

Y=ot ZpME] olF HH

| \ RanForRegmodel_n_estimators_100.h5
B 20| 2 == 2l Y AN ER

_ = =
I} AL H5 T (h) 0.01% 2xg < Al A8l 25}
HE 21 3 o = HAHD

. n_estimators=100 2 & & &

S A C:WUsersWhsungWOneDriveWHr e SHHWALZ Y -
7| 1.51GE (1,630,859,953 HI0O|E)

ClA3 g5k 3 7). 1.51GB (1,630,863,360 HIO|E)
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& XNlgtut ¢l=gt tlw

XGBRegressor & X| ¢t & 0| =Zf H| 11 [RMSE: 0.086] RandomForestRegressor 2|4} & 0| =4t H| [RMSE: 0.114]
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model = keras.Sequential(]
keras.layers.LSTM(32, 1nput shape=(x train.shape[1], 1), return sequences=True, activation="tanh’),
keras.layers.LSTM(16, return_sequences=True, activation="tanh'),
keras.layers.LSTM(1, activation="linear’)

1)

model . summary ()

LSTM &N ¢t & 0|5 ¢t H| 1 [RMSE: 0.296]

|

model.compile(optimizer=tf.keras.optimizers.Adam(learning rate=0.e1), loss="mse’

model.fit(x train, y train, epochs=100, batch size=64, verbose=1)
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LSTM(Deep Learning)

model = kﬁﬁaa.iequential{[
ors.LSTM(64, 1nput shape=(x_train.shape[1], 1), return_sequences=True),

-

-
|Il |Il
.I.L-I ;.L'
I_.I"I I_.I"I

- lay

. layers.LSTM(32, return_sequences=True),
. layers.LSTM(16, return_sequences=True),
.lay
- lay:

e
|Il |Il
;J,' ;J.-'
I_.I"I I_.I"I

rers.LSTM(8, return sequences=True),
rs.LSTM(1, activation="linear’

-_
|Il
_l_L_I
I_.I"I

1)

model . summary ()

model .compile(optimizer=tf.keras.optimizers.Adam(learning rate=0.01), loss="mse’ LSTM AlA|Zt & 0| =Zt H|Z [RMSE: 0.268]
2R 2t
=2 h |
model.fit(x train, y_train, epochs=50, batch size=128, verbose=1) | |
pickle.dump(model, open('deeplearn.h5’, ‘wb')) - ' | A
11.5 ',|| " \ \ | M _. ',H Y
} \.'Q'Fl ‘f" M
> 11.0 /| v | y |

o1 | w B
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LSTM(Deep Learning)

RandomForestRegressor & X[ 4t & 0| =Zt H| 1 [RMSE: 0.114]
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RMSE & R—squared gt 0| &

RandomForestRegressor &l & 0| &

XGBRegressor == RMSE & R-squared RandomForestRegressor X2 RMSE & R-squared
RMSE: ©.88414911244361757 RMSE: ©.114894352480733711

R-squared: @. 98449866 /8784471 R-squared: ©.9709111470054737

XGBRegressor RandomForestRegressor

LOSS &k 2 M U= 24k

XQb0o0St vs RandomForestRegressor xgboost vs RandomForestRegressor
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RMSE & R—squared gt 0| &

RandomForestRegressor &€ 0| &

XGBRegressor = RMSE & R-squared
RM5SE: ©.98414911244361757

RandomForestRegressor ©'Z RMSE & R-squared

RMSE: ©.11489435240733711
R-squared: ©.9709111470054737

RandomForestRegressor

R-squared: 0. 96449666 /8 /64471

XGBRegressor

LOSS &k 2 M U= 24k

XQb0o0St vs RandomForestRegressor xgboost vs RandomForestRegressor
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unction renderRecommendedProperties(properties) {

let listItemsHTML = "';

if (properties.length === 0){
listItemsHTML = '<div class="text-center subtitle">ZZ0| %= OjZ0] FSLICEH </div>"
document.querySelector( "#recom list').innerHTML = listItemsHTML;

} else {

properties.forkach((property, index) = {

let formattedPrice = property.price;
let lastChar = formattedPrice.slice(-1);
if (lastChar === "9") {
formattedPrice +=
} else if (lastChar
formattedPrice += "
}
let tagIndex=index+1;
listTtemsHTML +=
<a href="#"
div
<t
<

"

Ol
1la -flex w-100 justify-content-between™>
lass="mb-1 maintitle">${tagIndex}.${property.title}</p>
small class="text-body-secondary h4">${formattedPrice}</small>
</div>

<div class='d-flex'>

1st-group-item list-group-item-action” onclick="convenient(${property.lat}, ${property.lng})">

<span class="mb-1 h6">${property.desc}</span><span class='ms-auto maintitle'>${property.spec}E</span>
</div>
\/(_4_.

</a><hr>

¥

document.querySelector( "#recom list').innerHTML = listItemsHTML;




var select2

var select3

if ($("#flexCheckDefault1™).is( ' :checked’)) {
selectl = $("#flexCheckDefault1™).val();

}

if ($("#flexCheckDefault3").is("':checked')) {
select2 = $("#flexCheckDefault3").val();

}

if ($("#flexCheckDefaulta™).is( ' :checked”)) {
select3 = $("#flexCheckDefaulta™).val();

.ajax({
url: ‘convenient’,
type: 'GET’,
data: {
"lat’: lat,
‘lng': lng,
"health’: selecti,
‘'mart’: select2,
"starbucks': select3,
}.)
dataType : "json’,
success: function(response) {

if (response.length 0)@
reset marker() -
move(response)
create convenient marker(response)
closeOverlay()
make overlay2(response[13].name, response[13].addr,response[13].price, response[13].spec, response[@][@], response[0][1])

Al
1

}s
error: function(){
alert('Error occurred while fetching data from the server');
console.log(lat, lng)

}
})s

A W e W T D —~_ 1=

= 2l AE 29 Al &

function méke_overlay(name, addr, lat, Ing){

custom overlay = new kakao.maps.CustomOverlay({
map: map,
position: new kakao.maps.LatLng(lat, lng) ,
clickable: true ; O] AN oz Olg)] O2A =E2Ic
)5
string typeC = html=

var content = document.createElement( div');
content.style.cssText = 'background: white; position: absolute;left: ©;bottom: 40px;width: 286px;height: 80px;margin-left: -14

var title = document.createElement( 'div’)
title.innerHTML = name;
title.style.cssText = "padding: 5px @ © 10px;height: 30px;background: #eee;border-bottom: 1px solid #ddd;font-size: 18px;font;

var info = document.createElement( 'div’);
info.style.cssText = ‘width: 286px;height: 80px;border-radius: 5px;border-bottom: 2px solid #ccc;border-right: 1px solid #ccc

var body = document.createElement('div’);
body.style.cssText = "position: relative;overflow: hidden;’

var closeBtn = document.createElement( "button’);
closeBtn.onclick = function () {

1)

custom overlay.setMap(null);
15
closeBtn.style.cssText = "position: absolute;top: 7px;right: 1@px;color: #888;width: 20px;height: 20px;background: url('https:
var ellipsis = document.createElement( 'div")
ellipsis.appendChild(document.createTextNode(addr));

ellipsis.style.cssText = 'text-align:center; overflow: auto;text-overflow: ellipsis;white-space: nowrap;font-size: 13px;"

content.appendChild(info);
info.appendChild(title);
title.appendChild(closeBtn);
info.appendChild(body) ;

= O0tH =25 Al 2EWH A= 2681dI0]
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.apply(literal eval

.apply(literal eval
Kot E /S UE" ] . apply

)

ey

Syntax2 A2l oft=

ASTE =0 =M

String E+&0|AEHA

JSON LI0le6H== JSONL = H
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